

Q1. (5 Points) Find the general solution of the nonhomogeneous 4th order ODE $y^{(4)} - y''' - 2y'' = -12x$.

3

y_h

Sol. Homogenously

$$y^{(4)} - y''' - 2y'' = 0$$

$$r^4 - r^3 - 2r^2 = 0$$

~~$r^2(r^2 - r - 2) = 0$
 $r = r_1 = 0, r_2 = 0, r_3 = 2, r_4 = -1$~~

$$r^2(r^2 - r - 2) = 0$$

$$\rightarrow (r-2)(r+1)$$

$$r_3 = 2, r_4 = -1$$

$$r_1 = r_2 = 0$$

$$y_h = C_1 e^0 + C_2 e^0 x + C_3 e^{2x} + C_4 e^{-x}$$

$$r = 0, 0, 2, -1$$

$$\rightarrow y_h = C_1 + C_2 x + C_3 e^{2x} + C_4 e^{-x}$$

y_p

من C_1 فانظر x

$$y_p = Ax^2 + b \rightarrow Ax^2 + bx^3$$

From the table x
القاعدة المشابهة لجزء x عند مراتب

$$G.S \Rightarrow y = \underbrace{C_1 + C_2 x + C_3 e^{2x} + C_4 e^{-x}}_{y_h} + \underbrace{Ax^2 + bx^3}_{y_p}$$

20

Q2. (5 Points) Solve the initial value problem $x^2 y''' - 2y' = 0$ $y(1) = -1, y'(1) = 0, y''(1) = 0.$

3.5
~~Ans~~
 MAKE
 it
 Euler

$$y = X^r$$

$$(X^2 y''' - 2y') * X = 0 * X$$

$$X^3 y''' - 2yX = 0$$

$$r(r-1)(r-2) - 2r = 0$$

$$r(r^2 - 3r + 2) - 2r = 0$$

$$r^3 - 3r^2 + 2r - 2r = 0$$

$$r^3 - 3r^2 = 0$$

$$r^2(r-3) = 0$$

$$r_1 = r_2 = 0$$

$$r_3 = 3$$

$$y_{gh} = C_1 X^0 + C_2 X^0 + C_3 X^3$$

G.S \rightarrow $y_{gh} = C_1 + C_2 X + C_3 X^3$

$$y(1) = C_1 + C_2 + C_3 = -1 \quad \dots (1)$$

$$y' = 0 + C_2 + 3C_3 X^2 = 0$$

$$y'(1) = 0 + C_2 + 3C_3 = 0 \quad \dots (2)$$

$$y'' = 6C_3 X$$

$$y''(1) = 6C_3 = 0$$

$$C_3 = 0$$

$$C_2 = 0$$

$$C_1 = -1$$

~~G.S~~

Q3. (5 Points) Find the general solution of the homogeneous system $y_1' = 3y_1 - y_2$
 $y_2' = y_1 + y_2$

5

$$A = \begin{bmatrix} 3 & -1 \\ 1 & 1 \end{bmatrix}$$

$$(\lambda I - A) = \begin{bmatrix} \lambda - 3 & 1 \\ -1 & \lambda - 1 \end{bmatrix}$$

$$(\lambda - 3)(\lambda - 1) + 1 = 0$$

$$\lambda^2 - \lambda - 3\lambda + 3 + 1 = 0$$

$$\rightarrow \lambda^2 - 4\lambda + 4 = 0$$

$$(\lambda - 2)(\lambda - 2)$$

$(\lambda - 2)^2 \rightarrow$ Only 1 eigenvalue that equals $\lambda = 2$

~~$\frac{b^2 - 4ac}{2a}$~~

~~$\frac{-b \pm \sqrt{b^2 - 4ac}}{2a}$~~

For $(\lambda = 2)$

$$\begin{bmatrix} -1 & 1 \\ -1 & 1 \end{bmatrix} \begin{bmatrix} 0 \\ 0 \end{bmatrix}$$

$$-x_1 + x_2 = 0$$

$$x_2 = x_1$$

$$\begin{bmatrix} 1 \\ 1 \end{bmatrix} x_1$$

$$\bar{k}_1 = \begin{bmatrix} 1 \\ 1 \end{bmatrix} \left\{ \begin{array}{l} \text{Eigenvector} \end{array} \right.$$

the other eigen vector

$$\begin{bmatrix} -1 & 1 \\ -1 & 1 \end{bmatrix} \begin{bmatrix} 1 \\ 1 \end{bmatrix}$$

$$-x_1 + x_2 = 1$$

$$x_2 = 1 + x_1$$

$$k^2 = \begin{bmatrix} 1 + x_1 \\ 1 + x_1 \end{bmatrix} = \begin{bmatrix} 1 \\ 1 \end{bmatrix} x_1 + \begin{bmatrix} 1 \\ 1 \end{bmatrix} = \begin{bmatrix} 1 \\ 2 \end{bmatrix} k_2$$

$$\text{G.S} \Rightarrow C_1 \bar{k}_1 e^{\lambda t} + C_2 [k_1 t + k_2] e^{\lambda t}$$

$$y_{hi} = C_1 \begin{bmatrix} 1 \\ 1 \end{bmatrix} e^{2t} + C_2 \left[\begin{bmatrix} 1 \\ 1 \end{bmatrix} t + \begin{bmatrix} 1 \\ 2 \end{bmatrix} \right] e^{2t}$$

3.5

Q4. (5 Points) The general solution of the homogeneous system $\begin{bmatrix} y_1' \\ y_2' \end{bmatrix} = \begin{bmatrix} 0 & 1 \\ 1 & 0 \end{bmatrix} \begin{bmatrix} y_1 \\ y_2 \end{bmatrix}$ is

$$\begin{bmatrix} y_1 \\ y_2 \end{bmatrix} = c_1 \begin{bmatrix} 1 \\ 1 \end{bmatrix} e^t + c_2 \begin{bmatrix} 1 \\ -1 \end{bmatrix} e^{-t}.$$

Using the variation of parameters method, find a particular solution of the nonhomogeneous system

$$\begin{bmatrix} y_1' \\ y_2' \end{bmatrix} = \begin{bmatrix} 0 & 1 \\ 1 & 0 \end{bmatrix} \begin{bmatrix} y_1 \\ y_2 \end{bmatrix} + \begin{bmatrix} 2 \\ -2 \end{bmatrix} \rightarrow g(t)$$

$$y_p = F(t) u \quad ; \quad u = \int_0^t F^{-1}(t) \cdot g(t) dt$$

$$F(t) = \begin{bmatrix} e^t & e^{-t} \\ e^t & -e^{-t} \end{bmatrix} \quad ; \quad g(t) = \begin{bmatrix} 2 \\ -2 \end{bmatrix}$$

$$|F(t)| = -e^0 = -1$$

$$F^{-1}(t) = \frac{1}{-1} \begin{bmatrix} -e^{-t} & -e^{-t} \\ -e^t & e^t \end{bmatrix} = \begin{bmatrix} e^{-t} & e^{-t} \\ e^t & -e^t \end{bmatrix}$$

$$\begin{bmatrix} e^{-t} & e^{-t} \\ e^t & -e^t \end{bmatrix} \begin{bmatrix} 2 \\ -2 \end{bmatrix} = \begin{bmatrix} -e^{-t} + e^{-t} \\ -e^t - e^t \end{bmatrix}$$

$$u = \int_0^t \begin{bmatrix} 0 \\ -2e^t \end{bmatrix} dt = \begin{bmatrix} t \\ -2 + 2e^t \end{bmatrix}$$

$$y_p = F(t) \cdot u = \begin{bmatrix} e^t & e^{-t} \\ e^t & -e^{-t} \end{bmatrix} \begin{bmatrix} t \\ -2 + 2e^t \end{bmatrix}$$

$$y_p = \begin{bmatrix} te^t + 2e^{-t} - 2 \\ te^t + 2e^t + 2 \end{bmatrix}$$

Q5. (5 points) Find the inverse of the matrix $A = \begin{bmatrix} 2 & 0 & -2 \\ 0 & 1 & 0 \\ 0 & -2 & 1 \end{bmatrix}$.

$$\left[\begin{array}{ccc|ccc} 2 & 0 & -2 & 1 & 0 & 0 \\ 0 & 1 & 0 & 0 & 1 & 0 \\ 0 & -2 & 1 & 0 & 0 & 1 \end{array} \right]$$

$$\begin{array}{l} R_1 \\ \checkmark R_2 \\ 2R_2 + R_3 \rightarrow R_3 \end{array} \left[\begin{array}{ccc|ccc} 2 & 0 & -2 & 1 & 0 & 0 \\ 0 & 1 & 0 & 0 & 1 & 0 \\ 0 & 0 & 1 & 0 & 2 & 1 \end{array} \right]$$

$$2R_3 + R_1 \rightarrow R_1 \left[\begin{array}{ccc|ccc} 2 & 0 & 0 & 1 & 4 & 2 \\ 0 & 1 & 0 & 0 & 1 & 0 \\ 0 & 0 & 1 & 0 & 2 & 1 \end{array} \right]$$

$$\begin{array}{l} R_1/2 \\ \checkmark R_2 \\ \checkmark R_3 \end{array} \left[\begin{array}{ccc|ccc} 1 & 0 & 0 & 1/2 & 2 & 1 \\ 0 & 1 & 0 & 0 & 1 & 0 \\ 0 & 0 & 1 & 0 & 2 & 1 \end{array} \right]$$

\swarrow \searrow
 I A^{-1}

$$A^{-1} = \begin{bmatrix} 1/2 & 2 & 1 \\ 0 & 1 & 0 \\ 0 & 2 & 1 \end{bmatrix}$$